fons suppl
: frcm the ﬁrlqlhal ﬂccument %.
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N T
;B34 as. -3t
+and U -ones

i

te
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. B

342 =300 + 40 4
124 = 100 + 20

decimal’ numeral 1s :




be more conveniledt

“U8e ‘thd riethoa of “Box, B to" find each sums .

L

d of B@x c tﬂ

‘1278
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'  twc numbers. Whéﬁ ﬁe Dperate Qn

B
‘ V-adde,,;:(15 + 3= 18) Eightéen g
V1iﬁd, é are called addends.;;;;;ijqm:,f

An | additian ezerciae ' . 309

Ia writﬁén in calumms ta . Y

‘To-'add I think: ‘9 ‘and 6 |*

]

are 15 and 15 and 8 are

‘tﬁgetger, the hundreas 1|23 hink of 23 as 2 vteﬁg"igg

tagether, and so on. ) ani 3 ones.. Record 3$fand .

¢ . Incolum addition - | remember 2 tens.’

the ones - are. added firast,

Two tens and E ‘tensg aréii

ﬁné tgng»next, the hundreds ’ b tens; 4 tens and 4 tens '

: . f} . =

| rartof th? sum of 4 tens are 12 tens, - Think
‘ théséﬁeéif’élumn is : '

- o |of 512-_ﬁ3ﬁ§=as 1 hundred and g )
. Egmetimes remembered. It 1 2 teng. "Record 2 tens and ,'"
Y .
remember 1. hundred,”

-fe;;i—is—then added -in-with-the .. j-. .-

? | tens. . ' - ‘ ' One hundred andg_gl_hundrgﬁé':

‘. Part af the sum of are. I hundreds; 4 hundreds E

i . .
the tana column is and 1 hundred aré 5

. fgpmetiggg rememhgr, ) EI hunﬂféds; and 5- hundreds aﬂd'

huﬁdfeéé‘f;,,- : , Record 14 ,hundredag,

— =

L 308 | -




. Find
~ . {a). n

C® n

540
- _698

]

]

oue

167
726

e Ll-ll-'? P e

129

489
272

1591
8643
9275
5873

697 + 384
‘672 + 1278

179
R |
© 1876,
7235
8541
6718

gl

266

698

8976

1235
Tlh2 '
. 4T3 .

P

_Xﬁagmihm¢m—

n for each of exercises (a) thfaugh_‘(é);

(c) .n -1550 = 2476

'n - 8Y5

309




é'number Df days

cf this year. How many daja-afé tnére'iﬁ>thé¥iag; 3131;7)

year?,

:nmonths Df thiSf

*7.-'3%. . John went to'a book storé.. He found 5 _n;a‘gjag;ﬁes?wh;e;ij

b Y o - S K g Ry

»wanted,h Thelr prices were . 75¢, 20¢€5»u25¢, - 5§g,: andvfﬁ;

gsﬁ ‘He bcught the “three wh%eh were gheapest.. How much .
\‘:a- .

did éﬁey ccstﬁ

- ' T ' i
= 34; Tﬂéré ware -135 baaks bOPPQWEd firom the library on

Manday, 140 baaks Qn Tuesday, 158 b@oks ‘on- WEdnésday, f;;"

E

174 ‘books' on Ihursday, and 147 books cﬁ Friday. - During

”fthess five days, how many books were borrowed? -
SO 5 o

took a trip by-car frgm Néw Ebrk giﬁy

*O*Basﬁen——~The—trip ﬁ@@k fivemnauraif.This s—hcw—far

-'_;hgy-t:avaled éach hour: 36 miles, - 44 mlles, 47 miles,_f

“ 1f¢l!;ﬁiléE,w§ndi 38 miles. How many miles didﬂthey tgavel

“in the five hours? | , » B




hherc,p $3, the Shoes

-;QTQﬁK;ihere are 65 761 1ndians in Arigana,

"Indla ) 1ive in these three states? !{' B
e 535#;% ' 1

f'Haw many childrén attend Lcngfelléw Scnoal?

9. f;In- 1940 ° there werne,. 172,172 people in Miami, Florida.

in 19%0. Hoi many people lived in Miami in 19507

; -,ftatal number of. boxés agld by the three girls.
=3

N [ S E
P IR - - - -

'rat Christmas They c@lléeted 453 beaks, 316 ﬁgysg

53 769 Indiang in

‘-f,leatha, ani 4l,9@1 In ians in New México Haw many

;fB;k; There ’fe_ 529 boys and 587 girls in Langfellow Sch@ol

SRENE RN o foe S S s il b e e e T B e S L

In 1950;'there were _87,653 ‘more people 1iv1ngathefeithanf

 in£7 fﬁuriﬁg a’céﬁdy'saie_Mary=ééld 232 boxes of mints. . St
buéﬁsald 472 baxea, 'nd;jané'séi&='1h3' boxes. Find. the

iAil;’v Thé pupils af 0ak School collected gifts for paar childfen

g o

252 games,*and 164 puzzlea +How many glfts ‘were

“.collected in all? é{: - S /
o ' : ¥ : . .

311




Z Dperatian ,
Used

s I
¥ .

aﬁdi tiDn

; 2%5~k*madditianm4_

e ﬂ . addlticn!

'add;}z}an i
aadiion. 0

aﬁditiaﬁ

8 Wfite R DI‘ ;E B8O eag'h c:f exércises g thrgught'
he trué mathematlcal ser;tencéa; Vo - g
. a2+ %99 S ¢ < DO e

312 4184 128 o

© .1k, 346+ n__ 179, ,1f n = 177 .

379, ‘then ¥ ",17‘2'*’ S o308 4 233
15. I jn = 473, \then 896 #n __ | 674+ 595 R }

T B T e T e




woop 7 5L collscted

bl

(C) 863 + n = 1175 1_

(d) 2378 - P163 =




200

i

5QO:§30+6

5

fDD+éD+16

5GD+2@+15
EQO+ID+ 8

*




9 hundréds, 3 tena,
2 hundreds, 6 ;:enE

e’caﬁnat Eu ract 1n the cne%ﬂ gglumn‘sc we regraup

N 1; . = ®
9 ﬂS éﬁ 9 hundreds, 2 tena, 12 -ones -
’4? g6 8 .2 bundreds,- 6 tens, + 8. ones:

"‘;'Me ot t. Eubtrgct :Ln the tengi column 80 we regraup agaiﬂ

T kg;’ @ .__ LY

E 8. hundreds, 12 “tené, 12 anésﬂ_,v_fL%-
8 - 2 hundreds, ~ 6¢tens, 8 ones " ’

&

;;u,if:'; _,’ .12 - 83 4 - ones

M’
-

19 =6 =6, 6 tens - - L

S ,—_8 _2, =% 6; ,6 e hjmdrgdg ,

o E * =




%
T
2y

idn ‘As-an- cparatian on numbers L

we have subtraated.

Whengwa Dberate an

5 ;;3 mnd

12‘;

fsubg?aétian Exeraiae may help

"‘f”fus'ﬁ: Eubtract

y
-

Ta subtraﬂt think 3~

B There are. nat éﬁaugh ones in
5,576. -
I will .think’ of" 55 576 ass=*ué

th@ ones 't place Ln:

"5 thcusands,,’
6 tens, and 16
:16»=r8 8 g%
JBT aSH

‘unknown addend.

.
L]

= E;‘

5 =

X

frume
e Set 8

. 817
148

.8hal
5167 26

(e)

316

£



i_5co pebple in;WDadaide In 195@

,e were 5,460 pecple ;n Woodsidé ~ How maﬂy mare people

‘,-.

‘g3.h'fﬁéupianned‘a‘ﬂ455 ’ﬁile'fiip; The f;rst day we & am§1e§~_wi
| ' .7é55;.m11es. 'How many m;les wqre left to travel@ B

N i
s T R
3 N . A

e . S R
;,&E The Hisaissippi RLVEP is 2,348 miles long and the Ohlo

River 18 981 miles long. How mariy miles longer ik the -
 mssiasippt River? T

e N e e o,

'f5: What 1a the total length.gf the Mlsaiasippi’and the ‘ohio "

'_Sfﬂ——In—New—zark CityrnthénEmpirewsgate—Building~ia—~1—#72"—fget*f

L

high The Chrys}er Bullding is 1 046 feet high ch

much higher 15 thé Empire State Building? o ‘ 2 .

L
B

L3
’




Ana 5hei"' "bi-i&gé '- ’hélda two: tons sagi‘élér,

A cement truck that L

'_féighs 2 155 paunds 8 én the brldgé Hc:w

,

. How old will she

=

ML -':be an her birthday this year‘? Y

-4

g

" 318




?,000 +. 1 ooo *(g) 8 thcusands

(d)
(e) BDO huﬂdrédé J(JY1 8 0@0 o;-*‘j}”r_

;,”(f) 1o,ooo.aze,oqq,j;

Euppase you' are tc find 11 wheﬁ e ,j
8;@6@ - l;?az = h, .You can write EEid A’

‘%

. #aexamplamasqinJEGxuAﬁkLFinding the ;1hmf_%4;_;;ﬁL%%aggg1,,a;é;ﬂ:'“

unknawn addend is easy lf yau renamé T ?_:=g:_il§§ ]

: 8»000 as 799 ‘tens and 10 DHES_ o _'1 - — ;§; 5pﬂ?

ar' 7990 + lQ. S
i :

33;' (a) Lcak at the example given in
: Bax E. o B. .

;?i_(b) Tell; haw to get the unkncwn . 8000. = 7990
" addenay, 6260 + 8. 1732 = 1730+ 2
,"é \‘ = .'(: .. a o h} : 58:0 + 8. ’
W;,(;)72WEat decimal numeral- names - R

'ﬂ:'i " the unknown addend?

"~ .Find the unknown addend for each of these.




't GlEﬂn sehaal thére aré 500 bays and 375 girls._;fjjié

']T;Sue haa $25 ‘Shefis‘Saviﬁg:té bﬁy‘a b1c§§i31ﬁh;ch»§ésts},f” |

,-$4§. Haw much mDre maney must she saveﬂ ;“

'meA.high.ééhc@l;stadium has .5,200.4 seats. 3,482  tickéts

ﬂ'vhave‘been'ggld for éﬁgame;: How many ticgets are lefﬁ?

_'An elephant ;n a zaa we;ghs 5,6@0 pgunds. A bear weighs-f,'g

wgst Virginia bécame a state in 1863. 7HaWaii beéﬁmeééf.f'

g;Hew many are 1eft to Qut in the album?

& -

v ~ ’ X

746 pounds . “How much less does theé pear weigh thaﬁ‘thé :

. elephant? - : S _ ,n‘;;f;: 5g;;

_state in 1960. How mary more years hag wEst‘VLrginia =

been a state t%an~Hawail?

- 320




. H .
. J e

x :

HE TECHNJQUES. OF ADDIAION AND.SUBTRACTION'

hait*ﬁgibﬁ.'ana'ar'éubﬁraﬁt=eae§“exéréiééSaﬁgi;'

A s et i e e i LN

B “tado |
1i

L 768

B

B R - S I . da

A} -3 | N =
i1 —

" 6. Show that each of these mathematical sentences'about doing
- and undoing 1s true., The first one is done for you as an

" example. .. . : . : .

Y

i fa) (573 4-128) kB = 5T, L e e
.  Answer: 573 70l

' - 18 128
ST (oY (841 368) - 368 = BML
v (o) (632 425T) + 257 = 632 ok e
i (d).. (905, = HOE) + W96 = 905 v ol
L e) (384 + T69) - 769 = 384 .

a.

351 : il IS
3{” = f i




‘Try to find .the sum

for exercise

_ adding down the column once.  : .

- * - - ¢ R

F
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_..sSubtraction

 subtraction

“gubtraction ™
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fxercise Set

A notebdok: costs 154, -_’éperm_il; 274, _'ané:;":ﬁ'_ér;é T

ad $35, Jerry had $118 D,ang_ had:
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. then.'n

L
LY
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1 sure that. % < Z. &
Examplg ZfD;}f_ P

1 example for' X < Z.

Y

(Give one example for X < =2
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“each). olumn? "each diagnnal? Is thé new squarez.; :
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':fnumbers;yau Dperate an are H anﬂ n._ The epe;aticn yDu

R

:Aresult is lD--

or twaktrue

: ¥ . :
1 sentences using 'ﬁ, 3?5" and 89?’ Why?‘
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.8." 'BRAINTWISTER. . Each mathema teal
I which ;-.isf"-i{n " not .a whole ‘nun

n

. Find. n'" 8o ‘each mat

¥
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he l'eperationa ef mathemaﬁics- They are apératicms cn twa

_fe symba;s tha‘b :anueate ‘thesé " Qperatians are +

Lo

ieve cpération 18 named "circ' ! Th,_ 'sm’bal

P 1::: in""cate cire 1s G. 206 4 :Ls read “'I'wc': z:!irc-. -

circ. means adci 3 tc the first munber and then

' 'ct\thé second nmnber £rom that sum, Thus .

‘,<a) 3 ° iy © 56 () 7@
R 8@ 1-n () 4Ok . JORENN

F‘ d [

Am:thér makeEbelieve aperation is named, “hm&." Thé

: -, "aymbcl to indlcate bow 1s T. 3 T4 is read "Three baw

£ ’four."' Bt:w means chaose the. smaller number, Thus

'.'8 TE = 5, Find ‘ n :E‘c%: eac:_;:.af these.
3=n (fﬂ .y %”"'1=

; (b) 12 T 8=n. (‘d) 9 T 1o

‘4‘
]
:;1
" )
3= SRR

(e) .8 T 3

= "(é.)'_v-':é

It
o

\' e
S v



(5)5-‘- 56=n (1) 7 1 1@ =n (k) 2 n osn

]

o (h)l L -'Si-.%'n' ~ (3) 61 8=n (1) 9 L2 n

 %;'fThe symbé1-i* 1s to be a sign of operation. 3 * 4 tells

‘;,?Qujﬁa opérate.on' 3 and 45 in a certain way. It is . .

e star four."  Here are some results of the -
.'iagpgfatign;fstar, on two numbers. Try tg_find‘the meaning

It
W

8 " (e) 2*6 (e) 1*1

I
O

(@) 3k

:(b)'» 5% 6 =12 (d) 3* 7 =11 (£) 5+ 4 %icf

-ff;:ﬁin§' ﬂ~xfar each of the following:

]
o]
—~
"
S
m—ll
*
O
]
o

(1) 3+6

z
-

I
b

?kj) 5% 9=n ' (1)1*5

1]

337
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B

Anethér ’perati’n’/ishealled; "pick’ " The smbal i‘ar pick

'I‘riy t.-:s firxd the meaning of ==| from these examplesi
| (c) 2 du= |
(d) 8 _l 6 =

CE) 7 _15'"
(f) 9 _l‘r;[

n
ST
. ‘m . ' "

’Anather aperatian 18 ealled, e"alpha' . 'I‘he Eymbcl far

It :Ls an éperatian on’ one munber. Tff“.?‘ i’@

’-:E_ frem these exampl

(b)'at:i 0= (é)£ 5"10

’_ ach_af__the_iallcwing? SRS

e (:?“')?cf%*_ (f) £ 9= (s)aC 1 Elﬁt (h)-f 'T=

| 7 SU?ER BPAINTIESTEB. Another aperatian 18 called, "heta.t
The sy.;nbal ta 1ndieate beta is B . 'l‘ry te i‘ind the meaning

f‘ beta fmm these examplesi

]

M
a—

w .
Mt

m
W

vy

(e) 2 B 8

]
U s

(a) 334

0

AN
't(b)‘_ 1 B 2

(i
o
h
H
ot
'U»I
‘U»I
i

o

L ..,’::.;;faﬂi;-;
e E,ifnci n 'fgr'eaeh of the follcwing:’ @

n (1)5,’55”

1
o
~—
ty
~
=
=]
¥
)

. (n) BB b

]
—
=
-
\n

It

o]

n . (3)-4 E 2

8., SU‘PER BRAINTWISTEE For whlch of the operations :Ln' exéréisgyﬁi

15;;;_-’ 157 daes the canmutative prcperty seem to hold?-

338' - ’




A andget B4 W

tersettion of Set A and get B. -

- “the union of Set A and Set B..

. Number of - -Number of . . Number 'of .=
- ‘members ln- members in °  ‘members in
" Set B © Set:Cc . .8et D -
e (Intersection) . . ' (Union) =~ -

s EERE
7 2 1 n B 4




;gjéhaéter-7:}:;2

W think Qf additian, aubtractian,l

;1plicatiﬂn, and divisien és the fcur

q basic n§ératians ef arithmetie. _ f' '.3t;

We' have 1earned that ‘an Qpératian Qﬂ ,,ﬁs??-3i,';

nl'bérﬂ 15 a WEV Qf thinking abﬂu% twc numbers __if"= E

'?':etting’cne number as a reault.

'when%We thinc about” 12"and e ana get~w

‘;I

';‘:fwe are g.; ‘When we think abcut 12 AT
(O -and 3. and get 9y, We are Egbtrac%Ln;: ;When 1

and .3

fwe think abcuﬁ 12




i.Tf'times

x4i'{ithé;? S ;ff,i;?'

4 ';Lé

a
2
H

4 15 equal ta;:f:f

.a- Iactcr af 56

a fastar Qf 35

’Tis thé pfﬂduct gf 9

3
%

;Hff_ﬁé

Ve

.,:d:;we:

express

e amms 1l f L b&k

read

18 .a Enéﬁg,fagﬁq:_af-,

DIVISIDN

=

divlslgn like this._

36
§6 =n X 3,
or

. 36 =9 xn,
the sentence like thié:';

dlvided by 9 18 ei:,;uai o, m,

is equal to what . ﬁimes §?

is equal to 9 timea what number? Lo

'thétz ‘ )

Jand n..

36, "

1s an unknown factor of 36.




w@+&f

' Wé use thé

A0 T

’7:ﬁEﬁamé"h8':aa (4@ + 8)

':;"_(6 X é) Fﬁistribute ﬁhe;,? @"EI‘
S (uo+8) ac o

1s 240.° The product.of ~ ..
capnd 8 is 48 :
5 .e

;ThE sum of EHD aﬂd 48
288

= i;;i = F Thevprg&uct of 6 _aﬁéthG, ;f '.

bR, DIVISION OVER ADDITIGN

P e .
= E i - < F
' o

1 Tﬁ dividé ?5 by 5, ‘wg express ;75 as (SD +25). . -
_tThén we dividé bath numgersgby 5. : o v4[7;?'

¥
i

- as’ (50 +25).
 the. 5 over .-
ilf- - 7' -

0 by 5. Divide

&’ sum of 10 and 5

il
"




19.

= (29 % 7) + (4% 7)
é&(;krﬂE(qu)xE :

2 x 34 = (2 x 30) + (2 x 40).
(21 3.7)%'7
(48 +6) + 2

(20 + ) x 7

(21 %,-.T)_x 7'
BB (6 2) Lt
(5 x'30) % (5 x 5) 3 ;{ 35
(47 x 18) + (.47.___;.%;12)‘ = a7 x 3@ o ‘

ELRE

(12 + 3) + (12 + 3).= 24




L 11..10 X 4T =

- gt

LI

o -

13, 54'% 10

1%, 10 x 98 =

15, 10.x 125

;

w16, 31X 10"

0.

17.' 412 x 10

i
= I

18, 842 x 10

9,130 % 100 ='n" BRAINTWLSTERS:

i
]

110,300 % 10.= n




ﬁfnumbera 18" _la.A

5D, and ﬁfj r:ri.

wunumb TE is a multiple cf 1D

LEINE BY MULTIPLES DF TEN

Suppasé we find ‘the praduct cf 7 and EQ

Multiples Gf lD -are

2

have 1earned hcw tc multiply tw0 numbérs when one of the ;~7
G ablearn to multiply two nﬂmbers when ane éf the

Can ycu name some other,ggltiples of ID?.

S and 20, we-can thix%%f 20 as (10 + 1@) Then;
7 x 20 - é?? % (10 + 10)" Rename. 20 ‘a8 (10 +10)."
= (T % 10)___(7 x 10) Distribute 7_-over: (10 + 1.{:1)
¥-=; ?o-#m mltiply 7 end 10,

Txeo -

= T4 x 10
o =140
C1s it

o,

| 7 % (2 % '10) "
o ‘_";‘:::":;:“ 'A‘:""':" :A‘-"(7.E'AX-: E) Ag - lD' . . .

¥

'first way ‘or the second way?

3vpair of numbers using the secpnd way.

multiple of 10. Give reaggns for each S?Ep in the follgwing;‘ ."

=,tg:iarﬂ}.:)lég

:ihéxpgaduct of

:- ‘;A

ezt gy s s s S

" Too, we can think of 20 a&s

‘ Bename

Add 70 and TO.
(2 X 10) Then, \

20 as (E X 10)

" Use” the" dssociative: prcperty _

Wiltiply 7 and 2. . °

Multiply 14 and 10.

easier to find fthe praduet of 7 and 20 by the’

ILet us find the produet Qf another -

10; EQ: :’G!‘ B

To mitiply

One of the faetors 1is a L

8 % ko

it

:Sfx?(u_grlo)
(8 x 4) x 10
32 x 10

[

= 7 D .
8 and déhkiﬂ 320.
8 x 40 = 320.
’ 346
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5 ’thrauéh 12, find the deeimal'njﬁeral’fg

‘In exercise 5,

28 and ﬁhat 28
| multiplied by 10. 1g - 2802 L z (' o

6. 5x60 10.

- 5.&;7éf‘ F 11. 30%x 8

8. Tx 80 A 12, 9 x 90 SRS




23
;j‘bicket casts :$§.EDE How’ muchvdfd ,a _pena for the tickets?
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oi‘ 1(3._ What aré Eame
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derstand these

_:;_":;:__, .
L6:%.100

©18'x200

I w

_w

-

e
00 0o oo
‘8c>mm

HoW

e

,é;aﬁplés;;l-A&;zj‘,fﬁ"”

n

6 % (10 % 10)
6 x 1o0) x 1o
10 X 10_: A

bl
C
o

(10 X 10)
x 10) X 1@ PR

e
—

) é (3. w10}

mult;glied? Try theae.'

»l,y 10 and 1@0 |

L

[

m.;m-w

LI

and their multiples.ﬁ

i~ H SOV

i
el
A

\3200 '

‘ D ¥ 100

UMﬂ, CO0ON,
R - SO

”Hkﬂﬂ :
,Oh—-o
-0

X(lox% 19)?¢<:i?”7

=
AR
(@)
(o]

\;

16 x (2 % 100)
(16 x 2)'x 100
32 %100

x (ED X 100)
"% 20) %100 =

8000 .‘j
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ws does each® have?: How many columns does. !

©F .

__B—(4 x.2)

i

#
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=3 % (300 + 10

(3 x300) +.(3°% 10) + (3 x2)

ERIC

Aruitoxt provided by Eic:
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& the ‘product 6f 4 ‘and  23? " We

ERIC

Aruitoxt provided by Eic:






_blank must be réplac

ERIC

Aruitoxt provided by Eic:



VA

-n-_",-i,n_._!,-,\n!l
O S L R LY
3 EEET R TR TR

B2

maf. g§_
arr

détéiin_t

- m- -

A

e” ot

th

-.,....g.,.,. oo w

}arr’aﬁ.:yj ‘,jusjtj‘ 11

%

e
R A e
N
LR T
,I,W,IQ,I LB

,im-'-,-ii,-,ir-,i-:i

R TN TN
8 - )

O R O
h L . "

A

T
,ﬁ._
oo
i

a:way' to.find-the product

enmbunsturanemen

. 8ma

Aruitoxt provided by Eic:

E\.
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,{3, ﬁ#&) + (ﬁ X §)
'i 120 +.l5

_ 135-§

5 b (ED + 4)
(5x26)+(5><4)

igé,_

a(Bxlc)-h(BxS)
=80 +:‘ 8

X

- Wy

.
g

WE ¢an use- the same way for

ﬁse different. wajfs. ‘E(:) i‘in

@ th

epr

&

all of thesé examplea‘ We can

odget of nu.mbers 1i1€e th%Eé




Why can we” c:hangé order'?
: PR

170, and %740, ,

pid you get * |

B T




O

ERIC

Aruitoxt provided by Eic:

fte ee ar carrect one: fcr thls prablem‘?
CoWhy?
07 Explaini .

——— Iz o — ‘4

'this array %ntc smaller arrays. .

5 .
E . . [

What prcduet expfessign daes each array suggest to you? -
Firid the afray éach of thése deseribeai R o L s
| s & ' '

JL . i .. PR

T 1 .10 x.15-=150
B R - . . ?
11 2 ¥ ;5 =- 30 .

T 12 x 15°= 180




o Tind the produes, - T
) X 12 S
. 120 (12 x 10) -

(12 x5)

Let us see still another way of separating the array.

T (127x 15)

" Now.

" . we can write the product in vertical form in this way. ’

ED
W

- 50
. 100

(2 gis)
(2 x 10)
(1@ 5)

,@D;J@,

(12: x 15)

[

o
=
v
4
|
[1B1]
(=

© 180

i;‘ : .;g '_f WEYN ﬁ,;¥?lkj

Use the way that you like best to°find the préduets in ﬁhe  75'

&

- iv exercises in%erc;se Set 11.

(The more we can %e;arrx to remember,-
L - R e 5 - : - b . v
. ¢he"less we need to write.) ¢ 3 ,s«sf '
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- phort’ cut; -Yirite or think as

short ‘¢ut: ..find
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",270i children were sedte

i,

AU A % ¢ :
éggnﬁgrma%;ag given In the problem ¢
. ow e - o LT

gentencé. that re

b

. problem.question..
. N V . ‘.j 37:1 . .i B B

ERIC
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tc thé eirgus in: 6

1 "each bus.’ HDw ’ms.

‘l,;hildren visited ‘the zoo that day fram t:he twc: schgals‘? "

o

iicré“‘ﬁussle"ha‘dﬁ“ 15 squares acrcss a’nd lék Equare

__dowﬁ..r, HQW many squares were there ln tl?\i pussle‘?

3 .

o The.r'e !qgre 360 dc:ts 1n one part of an array and 2

_in- 'th;--_&ther part. -How many doﬁts were the;e; 1n thé whele ]

" array? - L
'+"6." 'The seor€ of a football game 18 35 to: 17. How many péint:

&
-

- does ffcﬁé, team need 'to tie the score? . ’ R a

M:r&&nlth buys 14 gallbns of mi:l,lc each montHh. ';Héw many

‘,‘Y-Eai éxi’év-aé;eg she buy in a year?

:If one gallcn served 26 childrem haw mm;y

did the « 15 gallcms SET“VB'? .




téﬁiéé“iﬂ the eéféﬁérié. if 5 children

 ,DWHmany Ghildren cauid b served at - EHE;”jlziﬁJh

Qﬁé‘g,oxesraf'craycna were ardered for & class. Fach Eéﬁ':‘

-3

vlfcontained 24

;crayons. How maqf .erayons, were théfé c
; R

‘»jwith spaces far 35 cars in each roy. Haw many ears may

f,,be Qarked in this 1at@ ‘ : f*;' .

ff'téoﬁ 'iéi SEchdE far the children in Lawell School ta

a3k the building during a fire dri;l in March. In Apriﬁ

“1:thé time was - 186 seconds.. How much longer did iﬁ take the_”'”

:Té»children to 1eave the- building in Mareh@

e Mrs.AWbod made o7 jars of jam Tf each jar held 16

 14;,' There are . 55 boys and girls.in the morning kigdergafteﬁﬂﬂéx_f'

.l ¢élass éﬁd.'QS in the .afternoon class. How maﬁy’children:

W éié.iﬁ the two classes?

‘154 l'anch of the! 32 children in Miss Park's class made 18

name tags fDP Qpen hm:lae.h ch many hame tags did they

. make@ . . — . , . h




each? » i

A

T

P Y

ai;;d B be réwri't{tei?

ERIC
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He can put 4 aﬁampg in ané -rcw,‘,i.ﬂl,

g Tows will he need if he pyts all 52 stamps:.

N eparatéd’ shgws that

- - T N o o - O

”"‘=(20+20+12)

v (g@+4)+(20¥4)+(1g%4)
5+5+3 | | |
. .

i

v\lm"

: 'I‘hére -are. 13 rows of stamps.




S (40 1Y 4

(40, + 4) + (12 +. 4) ) ';-

-
I

—-1a+§

R (ﬂb\;\ ‘,4 : ) . ;13, _i. '-;

e
i
2

L, -
- . LI

The ﬁumber 52 can be .renamed 80 that*eaéh addegd'ista f_f

= +

multiplé of. &, These numbers are multiples ﬂf 4

. o
i, u‘, 8; 15‘;‘ = g LI L i .

€ : . ’ .
L . = oL . E F
. 2

u

.ome others? ';1 .

' 0&n you name "5
%z@g. s

{4 o -




ERIC

Aruitoxt provided by Eic:



3)f+ (9@ +§)
B
lG®+§Q+1
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rots in bunches of

-T int's ‘allowance was ‘'

‘men. iﬂ the marghing band were ﬂividéd_inta ‘%{?

ERIC

Aruitoxt provided by Eic:
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Q

ERIC

Aruitoxt provided by Eic:

%

ed as (300 + 120 + 24)#
s (360 + 60 + 24)7







il

umbep-of;brees

ERIC
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500

]

~The
T hp

ol 137

i"xwr:flf:'?' dggs cf each hreed

n this__;.préblem a‘baut clags, there are 822 doga in thé set.’*'

ERIC

Aruitoxt provided by Eic:



There E.I‘é 1_8§ Bay Scout;s in 9 traaﬁs %‘ T ea«:h. rgop

k.

baked )185 cm;kj.es 'fo r &1
f/ach fthree b‘cxes. )

ERIC

Aruitoxt provided by Eic:



é@;,Quﬁ%WEigﬁsﬁfg4eﬁpEUEd

| T .
cases welgh? = -

éffl?;fpupiis‘gglieéﬁédv;455f;;qéké;ﬁhiiei

. the sam ;umbéffgf;ﬁbékéglhdw'@any Pdékshdiq;§a§§ﬁpgpil,._x,

our’ Gith, scout tlen o

S

h boy collect?.
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Aruitoxt provided by Eic:
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WO 0

" sentence “1ike

A \\

i 76 ‘is-'thé quotient, -
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e
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a) -gé-m 4

n‘i each- ai‘ thé f‘cllawing‘?ﬂ
_:1) 63 A 7

ERIC

Aruitoxt provided by Eic:






R
s, R

Subtractj.ou S A

o

ccw -

2% Name the members of Set A.

Name thé members sf the{Set ¢ LJ o. e

,‘.

:*What‘t:perat.ian’eould—yau—use ~to- flnd the number =Of IR

mémbérs in C l_J 0?2 R

& =
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S {. “" ‘“ix' S e ”,d,“:_ = ST T ammemees
¥ L+ Column. IT
B QMbdelf'

L SER

M'Q a) My path when I walk all the )

‘_return to my stafting paint

3) Line

L - b) A stretched plece of .string . .
: ~4) Ray R , ‘

: B c) The rim of a drinking glass
SRS et T 5).--.*?@3 et e e e any s nE o ae A_xbtr,: e e e ey mem T
d) A “Football field

6) _Simple. Clased Curve‘ :
e) .The tip of a compass
7) - Polygon . B :
o f) The edges of a piece of R
8) Circle S floor tile . ) S S

9) Plane ‘region

I ﬁ ‘ wh@se shores cannat be seen

h) The light from a- distant atar N -
f!ifft . SR ' 1) & stfaight naryow faad with o L
. A;' o . "no ends in sight _N;‘”Qﬁ;éskéb

_;Péft‘ﬁ. ’ ' , i .
.\,' - [ . .- . - - . . . R

Write a mathematical sentence (or two EEﬂtences if neﬁeséary)'

'.fdt'each p:oblem and salve erte an answer séntané%

1

f:;;‘,The Polk Street bus ‘makes three round trips every hour. HDT)

nAb'?'manyAminuteg should one round trip take?

lﬂégulThe schccl cafetéfia charges 25 -cents far 1uﬁeh. How much LA

:ffmoney will a atudent need for lunches all week?

405




E baby slater Arinks 8 aunces af milk six times a’ 74;

&“““%There*were“anlyéfarty=fivé*chairs ~in: the ~poOm-=- and 7gmu_¢&£ﬁ&

parenta came. . How.-many parents had to stahd?
S Dot SRR : ' B :
"7 Gne Ecauﬁ tfaup delivers 364 hand bills, another troop has ..
37 1333 ta deliver. ng many hand hills do both troocps. =
"%f, deliVEr? .

i ;Gréap-Aetivitiea

Multiplieatian Qiz . SRR - — |

Then he calls ﬂn Sﬁass mémbersh

'fﬂhild inuglass-graup Ga;led on asks, "Are yhu.thiﬁkiggzéi o

'5 and ?f§ﬂf*r<ji“l:! o S T T
: The leader repllea yes or no as the case may be. A feéorﬁ
15 kept on the baard Qf ali cambinaticns of n&mbers ccrrectly
given ‘for PéVlEW later -

If thé 1eader pasgea a wrong ggmbinatian he must Eit dawn

sl e and! a ﬂéw 1eader 15 Ghasen J S TP T ~>f feemnim ~_, e ,,.‘L‘,'

Fip



i w“gwgfﬁ,,;c_ e
= ci\l‘ﬂpl&ﬁé : ’tEéSé ~to frﬁai'ké_"

b

}.'f)';g#s':ef?'_' _49x 6
' 8 . g) 3148 32:-::14’

-;:Qé?ééghii ';'
L) 9Lk - 325’7';—;27
e

R : “( - - -
;v;g_ Tell wheﬁher each %f “the following s true ar—false

s2x2 ' h)_ (7x8) xe _(12x9) x4
2x25 - -17:25325 30 x 20
- 153 1) (k04 4);{;& __bx yh oo

| fj ﬁb)L 1E - 8 # E N 3 ':; e, g) 7 % 6 < 155 - 112

c) 36+ 7< 35 4% 8 . h) 29 8 4 b X
)15 +12 4 9= 53;'; 15 Lo 1) E X632 x 11 3'4"1 K
“f§§:13 x a is aluays } Ix2 j) ,5 X5 x2 %'BG_f_ao 1--é:1wi§

a)5 §§+5 : | - )P (16%2)x2 =16% (EKE) | ey

* iy

i : o

“i'Téll what aperatian is used and find ‘P, .

. .-‘W
w fg Examplé‘ 7 x r= 42 diViEiQn 3 r = 5 ﬂ

I
=
O

1?; e)——r 23

1]
T
[
o

f) 2k xr=120.. - .. .
S . ) -

é . h) r=d2 - 16 ”"

i
o




Bog e

 55 Cémpleté these 'to make them true Eenténces uaing words fromf f

this Eet Qf wards- divisian, operatian multiplicaﬁicn,

%k'i'f};*f ‘addénds, subtractioﬁ fagﬂa ’addiﬁian praducﬁ.
R I . o .
M 'a) We Qperate on two factara and get a %fi-;

x

k iib) The péfatian Df o s ;'undéé faubtraction.

N g) Wé cperata on twa ______ ___and get a,sum.
" - 7o
d) The: cperatian gf Eubtractian undaes,ﬁiw ; .

I

‘). . To find an unknawn'addend we use _______ .

B f). WE use divisian t}a £ind an unknown' _____ | f,_,.‘

g) The Dperatiaﬂ gfl _ Lf préduces a sum.
h) An ;;q " on numbers 1s a way of thinking abo 5

twa numbers and getting one and cnly Qne number ,:="

408

\[ Ve,-

-\f:ljj'¥Aij; A?gpgduat:is_the result of the operation of ___. ; ;-,_1



.32 X = (15x,z4y+ s
-“i)""-fibé;jh’ 13; (1@0@ x ) é-(g __x3)

', . i .

7o erte éach f the fcllawing using 5yﬁbals ":ﬁ,-.‘“
8+C

Examgle* Thernumber 8 1néreaséd b& v ;

The sum Qf;;

je number - 3

 'f numbéﬁiry- ingféésédfby six ' :}f

d) Slx mQre than the number vy '-é ;f,.‘

e B

Find ﬁhe number réprasented by each af the abave i£ Vv = ?{;' '

JWrite eagh ddiﬁién sgptence as a Eubtractign séntence.

! : L.

.\ie) 'n + 59 53L _
£) k52 n;931 .

o l%f | g) 384 + 0 731 -

) h)@ 455 %+ n : 534




vj) “the caﬁmcn enﬂpaint of two- rays
o that are “not on ‘the 'gare 11&@

i

WPite an answer sentence. 1”

'.ééégh’Lébg ;aida,SS cents each for school §gftballsgx'H@wa,u ’
" much doés he pay for ‘two dozen softballs? = oL
PR - . & .

[ L4

" How rany 1ce cream cups can be bought for- 90 'cents if eéach

CUB GOBtE " 61 ey e

)
o,
[
o

| S



- Z'_“."éi; P == ‘W E'Lg’gaki £

yards in 5 mln%tgsg

o

5Eakery Eéaéé} ‘eookles - 30 eents addazen
JEEE w

1_“ts a dozen, ehacalate cakes. % =‘BD cents e .

o twa d@zen danuts and a cake. . - *. ,ﬁ " X
. o B £ o e oL s
Indiyldual Prajects . L. g%%; L }sg '

L 1; Make up some Gpéfatans ané thEiF symbals‘ﬁ§WQrE’ ] 1eas%f\j

o

'8 pr@blems with ‘each of yaur make—belie?e aperation,;f;

put “some’ examples on the ‘board to see- 1f ynur class can

, discaver their meanings. : : el
Armthmetic ‘18 gnly ane kind af mathematics. There are at o
o fe By

;éaat »TE- §ther kindgi ,Name five or more othef Einds af

Chathematlos .  Make a chart fof Your cla am Qfsthe kin g
.you can>find. L ' ‘ 2
. + -i‘va )
’ b1l A
d1e .
kA B
%! ;\_ . R =




T P A AR L P Y

'(am x7) + (Ecxﬂ

% ?§36®

e e

;;_f | (546 7 9) =,\(351 - 546“

&) .eN (EDD + 5) +. (50— 5) , q

ifué ) 6

(L}GKS)*(SKE;}

i 7 (23 }i

‘0). 3@37%{

T)xlg ﬁ?x(?xla)

421 ... 337

L

2
56 + 153 .
 9hL - 327
' 897 + 538

534 - 273

lgég . 1549




L) 123 x 3-320 - . N T e
k. "Write each of théde sentences using numerals ‘and the symbols . -
R T - L N . _i;; o T : - o
fff'” “iéés ﬁhan“’ana‘”gfeatér'than?! S e
';ia) Thfee 13 1&33 than five 7 I o L =-n“;h_ff.
.v‘ " i \r - . . V}ﬁv '_- ; ;-!,"
-_bJ Fiftyseiéﬁt is greater‘thaﬂ thlrty ‘ ﬂ e &% ot

i

Lg) Eightéen 18 léss than nineteen S

l‘v“ Lo
—t
.

Lg;;d) _Fguz*hun fgﬂ five is' greaper than five.
35 Th:“ee ténESare greaté‘r thal} twen §g§§§




30 x 957 i‘

= 1,092 , 80 ‘12@ x»Sl.;{J,

\; a

E' '*43~faﬂaf'17§ "". . e) 27 and 23 .
J i ‘ana 13 f) 21, and @

19 -and 25 - - n) 12

S B .

Copy" and complete these, sentences. -
A-a._), A 'i‘—aygﬁas ' endpoint(s).
%

 1ine Segnent(s)-
1 N

k]
5

b) A triangle is the union af

c) .A,g.’gn_e.hasv:' o endpoint(sr

_ d) -Sﬁa’é;is the ’:Eet of paint‘.(s)

E’i‘ A 1ine segment has _ 7! ] éndpé;Lnt(s) .
f) ZA r‘adius 18 a 1ine aegmént with' __ _ endpaint(s)_

= ;Dn t.he circle. e B it i it L e i R

: g)-}A adrilateral 1s the union of




) ;t,r-iangular reg,,anm' R -

7) b SR

;;bl;a):'circlepai e

i

Qflféjl q\édrila%eral

LWriﬁe a mathemaﬁical gentence (cr two sentencea if necessary)

_gfar each prublem and solve. Write .an answer sentencgi T J - e

. {‘

"‘Q,The C:Larlc family tr'avelecl 387 miles in 9 hours. How many

?miles did they average each. hour?
= % \: B . E \_!; Gt

'fDuring Public Schcgls Week, 1,162 people visited PATE Grave

f"schca .}—219——visited Sleegy—Hsllow -5 haal‘—and-+l~DDﬂ

'f{fviaitéd _niand Valley School. How manylPEOP;e visited the

Deanvand Gail hgve sﬁamp cclle;ﬁlcna Dean has 354 stamps. ;o

5%,- three aehaols*

AR




“Would-needto:make twd pictures?: -

! ";Haw mu;h mare do I pay for £wo ‘shirts ‘that- cost $2ﬁ15 egﬁhjéh
‘ilf_;tﬁzn far ane ahirt that Eosts f;?i'é'q; A

L ' *

:,Z;JiThe price af pcﬁatﬁes 18 5 pov

‘?the cast af twanty pOunds of potatoea@-a‘

- .

o ‘;ri}fcimip!z;ctiv-ity-

'%lTic, Tac, Tce NV -

P

 fThe objects af the game are speed and aeauracy in additian. L

;fiThis is a : Each chlld draws intérseqting 1ine fﬂ:

7segmenté as Ehcwn Thé suﬁris ann@unced by the teacher.._ft b

Tﬂé ghildren put single diglt addends in Equafes 80 that ~:7

”each row gives the sum. N

ovlo

ofww’

Example: Sum is 13.-

1
]

Indiv;dual Prajeet

Use anly polygons to make an 1nterestlng drawing ,Seeihgwi;,;f

many pglyggns yguf classmates can identify.. lfff’. i¥,

Wi




TON-OR-GOMMON -GEOMETRIC. - FLGURES - <

L) 3

SQJThe three 1ine segmea%s are called the Eides-

A';iaf the triangle.. e

:iWhaﬁ is ‘the common endpalnt of any two sides '
A‘;{cf a trLangle called?’ R . j'_: R

¥

:Lfé)ﬂl What are the endpaints of the line segments of’ 4

. S ia triangle called¢ L _:i“(;;:. : | fr'i ‘;;11.57?

-T”"é)“”}ﬁﬁﬁ'ﬁany sides and4v%;ticea;ddes a triangle .

‘have? .

B A T - 4

i{‘,f;;"tWha%ﬂif a pélygan,whigh 1s_the union of féuf}liﬁé%%;f,

_t‘;!

n}




L= * . E
= . . v .
: : Y
H

5‘ Let us. red%ll that quad suggestg four.

: Ehgwn abave fahr angles are. formed They are ZPAB, éAEG, :

In the figure

aﬂd ZGDA There aré some paintg of these angles

] '_CD,
‘hat are nct p@ints of the quadrllateral because angles afe

- made up ®f~faxg, | ) - . o

" The vertex of one éf the éﬁgleseis called a jgrté;Aafvthé :,

£, - E
. - i

i ._.quadrilateral. . .\

. .The vertices of tHese four angles are called the yertices
of"the quadrilategal.

- &

418

|
g A
p
.1
L™




Gc back ta exercise l. Traee the 4 pgints again an*a

fVﬁé=£ﬁé§§?segﬁeﬁtE'f§rﬁ a quadﬁiiétérél?:,Whj?'

ERIC

Aruitoxt provided by Eic:



be f

';jquaafilgtéréi?jf;ﬁﬁyfbr!why:pb

'gig,agnamgjférjyéﬁr_figuré?:}f

three polnts (not all:

'Lgbélrﬁhéﬁ":?;gwgé“;;‘

'your figure a polygon
our: figure the union of fhree Iine segments? -

iame for, your figure?

ERIC

Aruitoxt provided by Eic:
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our: compass to’compa

ERIC

Aruitoxt provided by Eic:



an-you. make ‘the .

f “someone "asked you te compa

_method. would you-use?

ERIC

Aruitoxt provided by Eic:
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L &

;tﬁi'é -.pégéi'_itég’ifgsi;ggfesf a model of aright angle

2 '

dels of “Fight angles in your cle

ERIC

Aruitoxt provided by Eic:



a 'S" ':bet, een AB and AD We shall say, therefc:re; that







ERIC

Aruitoxt provided by Eic:



qod

| 1s. larger.or
Shéhas ‘a’ tracing of a right

R

i1 £ht 158 this,

r or smaller than a -

Nam

ERIC

Aruitoxt provided by Eic:



V:-;Can yau—find edges of your book which represént.

~ 4 : , R
rectaqéaeﬁ!‘cheeg'with your’ right arigle model..

':;eéﬁaﬂ§;e§‘

”'539 the edges of’this’éhéet of, pa@er fépféaeht a

-{,rggtangle9 Chéck with yaur right angle mﬂdEl-g

H

':rf;sCan yau find any mcdels in your: claasrgcm which
, represent a rectaﬁgle? Chéck wlth your right angle
3 sﬁdﬁel. o

R Y
R Fa desstt
& E =¥ .

. ';wa;aéﬁid;YQﬁ draw a rectangle using your right - °

angle mode1? - e




- I8 the

o with vertig

quaﬂrilateral ‘ve) :ﬁéséiiﬁ'ﬁed{}b ¥

Use: your model.

. congruent to BT?
. congiuent to "BG2 . o b
Is , B congruént to 7D?

) 1Is B0 -congruent to TD?

A

8. Wnich of these statements s true? . STE

" a) A rectangle has two pairs of congruent sides,.

.b): 'Aiilt_féur sides of every réctangle are aohgmént.-

-'e) . A reétéﬁgle has: four right an_gles;x

P - i Ty

of A5 of exercise 1. Using AD. as one

1f you can draw another redtangle ichiah;léeks »

rom rectangle ABOD. of exercise 1.




Eelaj is a prrEEEﬁtatigﬁ Df & Equafe. .'Check

Y

¥ LA

“a) .Are all the sides congruent to each other?.
b). “hve all the angles right angles? '
S - = ' ¢
, Name same abjegta in yaur clasaﬁaam which suggest

”~i3i Name some cbjecta in- yaur home which Euggest quaféa. A
4, Is every square a-rectangle?

o 5;ii'a)_’_ig_évéfy?rectangle'a square?.

b) Afé;ééme'rectangles also squares?-

Cw

ERAINTWISTEB
Bl

:braw 8 square using only the foldéd paper model of a right o

<

v

- angle; a campasa, and a pencil.

fLE

435




. Thinking Together

i

vta 1ack at sama abjects, Tﬁensurfaeésgéf?izgfﬂff-

se abjects represent s ts Qf pcints in space. ‘These~set§??*~ﬂlﬁ$;ué

Y,Aealled models because they répresent setsA

paints. Earts cf the aurfage af some Qf these abjegﬁs remind-' ‘*:

,angular regian (a triaﬁgle and ita 1nterief) : Anather

gf‘at‘part cf a mgdel suggests the uniaﬂ af a quadrilatefal aﬂd

?‘lts inﬁerigra Still gthers remind us gf cifcular regians

?}(cireles and, their 1nterigrs) - ..

N@ﬁ all parts cf the surfaces are flaﬁ Fcr example, the jii‘ﬁf?

here, the gylinder,,and the cane have parts of surfages which R S

féare nct flat
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| Thinkiﬁgl»icsééttiéri |

Look a#-a{'i?’a’;é;- S

) Tracé with your finger t.he dge of a

e faee.- The édgea répresent the sides

;gf‘ whai: f‘igu efa‘

- the rectangle.

. Mark ‘with your pencil three points in -

7--’thé?iﬁ%é;ria_1?‘- of the rectangle,

‘. : . R E,
. R G0 . N i

._V_Hc:w many facés does the réetangular prism have'?

'-.'Thé edgés a’f ﬁhé mgdél répr‘esénf; 11ne Eegments.

A“*-;.Thesé line. Eegﬂents are the iﬂtérsectian of ‘two
__"‘_'aifferent faces and are galled edges of the - . a

" rectangular prism,




O
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- are . there? . ...

",e cofnérs af thé m@dei represent poiﬁts. Each such

’ .

.

R _'Namé ‘Egme athei: ,@bdé
: .

_reetangulg:* ﬁ?iﬁm; ,
' i

1t 8t111 ',ELFE B




O
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tﬁé" ifgi_lg:ﬁiﬁg . js_éh:géfns;e_'s s us_inga a

t of paper.’

"Thé rectangular prism has

gos and

a .pectangular prism hollow?




“ -

b2
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T——

1cf;th3'faee§;, (Notige that a triangular prismw

,_}'reetangular regiﬂ;,, 7_', ‘

~7§What daés this facé repreaentﬁ wé eaiila-faée o
’f‘whieh represenﬁs a triangle and its interiar ' ;ifaiA7g$;f;«;

Afotriangular face o a tr;angular regfan, %

,Afaegs Qre bhgre? '

> has 1ihe segnents which are the .
i are called edgéé. The endpoints -
Qf the edges are ealled vertices of the prismi They are " -

represented by the earners of the model. ‘ : N

v l‘
- How_ maﬁyfédgés dces a triangular priam*have?

L;Haw man? verticea does a triahgular prism have*

o Name some abjects ‘vhieh PEPPEEEﬂt a triangular prism._- e

.:i?iA_

Sttt 14 B

'__a_;.__..._
P




O
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é " the “following "

&

i

R

£
£y H

. faces,

A ﬁri,wguiar-priam',j‘

. A triangular prism !

-

. b)

e) A-triangular prism !

“d).. A triangular prism has
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'\éﬁﬁfed on- page 445*

e_thase Df a\v pfism ‘l‘hese
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iis siggest how you:mig

61 the box ‘together/again
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ibéﬁ;%ﬁaséa;.{?réé5 -

"ﬁcame in this kind Qf cgﬁtainer, 1w0u1d part @f
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What wili__ the cut edge repfeaent‘?
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“'plus number. of
vertices minus
“number of ed

8
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)i Plaﬂes_

_answer of,'6d




R an:' nat be fmmd Just b:r ct:sunt.i
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R

canfiot :;E-E-iil_j §-ﬁé"_sis§ -Qf"aii'zf éiﬁgie : ,oé};.ﬁ

ay Vbe 131*53 m; amall.
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)

ag of candy bars " a den ieeting.
_ candy bars to, ; geting,

7Hhatzia,an;éagy way. ,§§11;“ﬁitﬁéut’séﬁntiné;;whethér}_,

£l

s. or move candy bars?

_oi?Stééefbdmv 18 a sﬁppl&?qf:dEERé'End;; .

of chaire. . How can ¥
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ks -on. paper;”

N #
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_ll

~§g"
-any two abject@ uhich

» ‘think af thém as e
: .-_111;3.; segmeng.- _ -:This is what we meaﬂ whén
o — ‘ i h e ’X: . ‘ [P .

L1 = A toame

3 ’ g

the ﬁiégéﬁgé":betivésnf €he. two tips of a.:éc:mpass 5

Lt
™

= . '3.

the distangs between the ea rth and a star, g
: - g NS IR
% e v

’sttaﬁce—fro_m lgcme plate -to- Secand hase’f,g‘ﬁ'h—_—rf

= H

’:ﬂathe heighﬁaat which an airplane fiiesib

Name Eeveral othex ways we think of line segments by E
4 \“ g

ﬁhinking of ‘objects as theifr Eﬁdpnlﬁts.;_.&:ﬁg

u
"
%

ﬁé; The way yau g6 to school 18 pfobablyanct much like a _
linejﬂégment_ A picture of 1t might look like tni% : *:g

. t
&

”J

té'scheal Ycur path can be thaught af as a. eurvé, but

nat as a llne segment What does- d&stangé or 1ength

mean far c rie - We thlnk of the’ curve as- represented

by a piece agjwire or string. Then we imagine .
st.ra;ghtening r:u’c the wire or stirifg to represent .a line 'l

'%f:*ilﬁr.,* Ségmént




e segments and other:gurvels. .

s ‘and write "longer" or

.

" Curve”

A

B
P

&

'An;_' iis ‘
‘f;‘

ERIC
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S

T Curve- T thag’\é}irvé' DT :

TR s IR C a4 ’ : A
H . i g . o : 23

=

curve M is + %  fthan.curve K.

e R

E R TR b




:QUSING A’GQMEASS $Q CDMPAREASEGMENTS

[ Explaraﬁlcn

s

s, 7B 1lohger than T . -

Draw a small part of a circle which intersects BAB.

- Labél the lﬂtérsectién E.

4

ig between A and B, so AB is longer than B&E.

———

. ) _ *

e e e i A o B o 8

AE has the same length as, €D, so &B. 1s longer than Efgt




Which 1s longer, 7AB or TD?

whieh is 1anger, T or’ E_? LRI e T
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represemt@-

: ZrTaké yauf Qeneil

| 'p:)ss;_ible. Place your r'igh’s hand, with gﬂur thumb

:;,éérﬁef qf:ygur desk, See how mgny hanaz%pans 1Qng Ll
15 ' - ’




T ALY

hequit ag;—meaaure— -s.

4,y;L

. N f
?., N 7$j-ﬂ-,v‘

T

and—ap%‘ps 1ang{f& * .

&, 1is Ehe ha'

ERIC
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'WE-lay aff thegunit AB “on CD

Ve, 1ay aff AB an T three times..

'We 1abel ﬁhé intersectiaﬁs E and F.

- }See theipigture below. .

8

=

CD 1s 3.

a
)

* 'AWhat iﬁ the measure af

iyl
=
L

>~3What:is the measure of

=
=2
o

hwhat ig. the measuré of

i et
I
: S
XY :
- -
®




iéntd” in éxercise 1. and 2,

asure @ h" segment,

-

3. rend

the measures of the

=

b, . WPlte ‘the name of an

.. Use the

y segment which

unlt and filgure for Exercise .3, .

has the measure given,




megsuré of .

. Iu

4. Is ‘fn zw 1&?5&1‘ than 49 Why?

:m

5_ » ‘I8 mZW smaller than 5'? Why? oo

i

: oot s - CoeEt “ . .
RN P . .
S o . A N . R

. 'siree 'W 'ls nearer to E ‘than F, we say o e L

m 7 24, E&_ fghegéarest unit




~a__ﬁ;g;;;sé#s§ﬁj§___-

i“*AB‘*i* greater than“~-'

units.l-

;—units—but—ieaa—

¢

g

(toAthe-neareét unit)

less than

ol

The length of TD 1is greater fhan

___.unitsibut .

D

units. I e

~(to the neareat unit) .
. . . 7 T
L T b’ ——

The lengtp ﬂf
1ess ﬁhan -

mRE = . (to the hearest unit) -

T ao s T o

‘units but i

i

ﬁS; is greater than

units.



B Lo . s -

t whose length ls the lengbh of

. .7he léngth of curve , ABCD 1is greater than _

.. but less than' ___anits. :
R o el &2 . ., .o

o 2 i m ABGD = (o the nearest unit)

——————f




fbrauéﬁt: a basaball se large Vol

e and‘ weight- " What dt:ses thatmean'?

) In whj.ch of the f&llawing senténees are; Etandafd uﬁi ; ‘

used“»‘ ' ‘ : < Dt he ‘. sk .

_ , a
... 'He 18 as dtrong as an ox

-2 'KPﬁt-ln a pinch of \sal;
3. We. gé-t g'é- ;’int cf mi}.

- The corn is knee high

" Yau’ are famillaf with many sganciafd units Name 8




a_hese wgre used by peaﬂle 1ong aga;

] dard

LT

1§fram uai g parts of “the bddy..igff'v;i!

l';An Lﬂch came frcm the use Qf a’ part gf

. f‘ A fﬁgt game from the 1ength af & . . T}

:pErEQn's foot.  Is yam“ fook shor‘ter‘ !
x;cr 1oggar than a foot ruler? . .

.@A yard waé at éne time ﬁhéught of a§  .

the disténce fﬁém the tip cfia‘persdn!é ;
‘noge to the $ip. of his mlddle fingew,i",af
';lwherghis ar'm was held Straight eut . '
'fram the éhaulder 18 thie distanee.“,. -

frc::m your, nose to the tip C!f your - ¢ C

finger as lang as a yardstlek? . v X
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ymeasure in centimmeters
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ey N

'wcégﬁiﬁﬁé~ecpying)the&unit ge
OIS Py e e

_ifiie;ﬁi es.
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‘ (iil Géntihnete
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i

m GH - (An: centimeber

*.m WP. (in centim
i A -
. L ¥
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;-

i,iaa:y_,_._’éf...ﬁplaciifig;cuxi.f,.’s’,é e,

u place the ruler in this way?

T S SRR AT
Are there, other ways/to place the gnler to-

£1nd the

v

5

. léngthafﬁ? IR
' th, o '3 inches, .
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segment 8. cm. in :

) segﬁiérif 2 ‘ in. in' 1engﬁh N

ERIC

Aruitoxt provided by Eic:



Jthe blarks §0 as, 8O
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Ll

-of  these. segments .Was' one'
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es, 86 that” T, 1s not’

‘ahd. inches?)
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‘seconds,

~team :to- run the mile%
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r’rﬂbar'_’i:néasﬂlje the 1é_rig h gf:'thé;

the'plece of §
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s 2

left.over,. bend.it back and otit_of the ___

{

»

L

=%+ - (Ggn you think of some way of using the wire outline to

find the length of the curve?

If you stralghten thé wire out, will the length of the

_ part of the wire that autlinad the curve change?

i

. Stralghten out the wire.
Measure 1t with a rJdler.

what 18 the length of the ciuver

ERIC

Aruitoxt provided by Eic:



TG imerls o v :l! : 3 » ) - e
L& i’ulerfigta find:the lengths of the curves.

rmnmie A.__._’ Rt YR Ry S S S

Remember that this simple closed ‘curve 13 called a

i pelygon—because "1t 1s~the union of “l1ine-segments ===

*




th of the triangle?

=

-‘Finﬂ thegléhgth Qf the leygDn

e

“***Bénd“a“piece*ef*wiTE%sc»thatuwusiﬂgﬁthe«whaléﬂpiecemaﬂywiréggg

a ( -

‘ yau have a pﬂlygcn with four sides: nf'the same length, -

”Esgﬁgggqsam%’piece of wire as in exerclse 4 and make a

different polygon with four sides of the same 1@ﬁgthi

without straightening thée wire, do you know the length .

of this polygon? s ’

Find a model of a circle in your home.

Use a plece of wire or a plece of string to help you

findthe length of the circle.
Did you need a ruler? = \\ - , T
Cut a model of a triangle with its interior from a plece

of--cardboard, — - e e

* Can you find the length of the triangle?

¥ :
Did you use a plece of wlrer \x\\
Gauld you have found the length of the friangle using

the rulér Gnlyﬁ




Joan wished to buy some lace edging to trim a scarf..
‘The searf was 40 inches long and. 14 inches wide. {
»How much edging does Joan need?

The number sentence which tells the measure of the length of

* the: edging Joan needs tdkerim all four edges of the scarf 1s:
, \ : . S
Yo + 1% + 40 + 14 = 108

Tt T At 8 S

The length of the edging that Joan must buy is 108 inches.

- . How many yards of edging does she need? ' D

The perimeter of the :eétéﬁgle in this example is. 108

iﬁéhes_

¥

E@u“haVézfaundiﬁhé length of many simple closed curves

'When the, curve 1s a polygon whose sides are line segments,

»;Jéfééii;fﬁegiéngth”afLthe polygon 1ts 'érimeteé;
: ’ perimeter

The perimeter gives a mumber and & whit of meas

N =

507 . _

.21;,’(3'8




o

L ?"fi.}

i N E{f* ) ' g

Johrny measured the 3 sides of the trianhgle. . o

Mary measured the U sides of: the rectangle anaund the doar

Each rep@rted that the sum of the méasures of the sides

of the figure he meaaured was 20.

I
nY .
o

Jaﬁnny sald: "6+ 6 + 8 5 2

]
2

, - " Mary sald: . "3+ T +3+ 7 =2

. . What other® fact didgmr! Jones need to know before he cc;Ezjmake'“

" a dedislon about which part of the house to.decorate?
ras

5 Tamily decorate the dobf of thd roofy™ =

L

08 '

M:




“the. corners. )

‘Didﬂyau find the sum of the measures of the gides of the

.-inches of barder must be paiﬁted on each sign? , Eéi

X ﬁeﬁé&geg“ﬁf ‘thebot tam" make - m’*ﬁééfgﬁgrés* o e i i

_ regtangle, ‘or did you find the perimeter of the rectangle?

Cot ‘ - : L

’ szhe Polioe department of a town j,s painting 'a thin b;Lack T

=bofder a§2und ‘the edge of the STDP sigﬁs. How many

= 3 - PO
. A

P_.sign repfesents a D

of this pgizggn% .

509 B e
el A

A e ' —— |
S E . :




El

is B

The periméter o

of the astar

ERIC
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i . e T : o

fe place a plegce of wire around ﬁhe»edge’aé this floor ‘plan, ;f>_
iy

el

;thén:étraigh§5ﬁ Qﬁt the wire, W 5! piét@:e the wire_likepfhiéé o
RN o . o .- ) , - ; '_ ) )
i Y j‘ ¢ _ L g .

12ft.3in. . 7f2in. 121t 3in, 7L 2in -

=

sdyire into eight pileces.,

put them tcgether again, aS;iFDWﬁ’iH this picture, _g,'

”77777,7,!_7 —— - *f e L R '*k .
TR 2t SRAL 323; s

S 12 R
o e R Jﬁﬂllﬂln

s &

Has the 1ength c.hanged‘?

_WE“aﬂd—thé—measurES‘which have the same ﬁﬁit;_{l -

. 'i ‘*‘ e ! ) -7 ) , ; o ) (_: '\
s 12 + 7+ 12 + 7 = 38 _ _ S

1

fi§ + 2+ 3+ 2522 10 . P . i ;}f

¥

"r'imeter, af’ﬁha rectanj is 58 ft,

d the measures

not- add the units




"answgr—in yards,and inchea. Give your aﬂswer again in
X 2 . B 4

.., . feef éné'inchgair : vi' b BRI -

T

et g)) " Can your answer\bg/;ritten usiﬁéﬁéﬁly one unit?™

wrl te yaur answer 1in irmhes Q:ﬂclys. in feet éfxly;

E b) . . Can your answer be written uaiﬁg yards only and what h_i

SRS L we have learned.-so far?




.

How mueh 1é ogr?
. ,

RAINTWISTERS ;

A man wants to put a tence atl af3und:n1& land. He knows

that the boundary ol hls 1.and cun be Lhought of as a 'square.

. He. measures one slide and filude thal 1L 1la Letween 125 and

ng. How much fencing should he buy?

medasured.the frame uvhere the pglass went, He found

LR

. the nearest inch. He bought a neu piece ol glass 1 inéﬁes

£

- wide an\l. 24 in?hés‘laﬁég!‘UHE% Le wént teo put it in the

.frame he found that it was _too lon; to fit, Can

ERIC

Aruitoxt provided by Eic:

possible reason?

1ouse a plece ol glaos lu g window uas. broken. His._

a8 a rectangle with 14 lneh and 2%  inch sidesg to

519 ‘ L




a pair of numbers a{ #he right which can -

dk-abot tﬁ%ﬁhé:iﬂtﬁiibéﬂ*bfﬁgaﬂ‘ﬁS*ﬁ h a,tﬁ;\aféésihgﬂégﬁaﬁgf‘ét}ggaﬁza?@;

f;PéftsﬁiﬁfQ which each unit region, unit -

. Palrs of Numbers -

and 4

m
“;-u '

and &4

o
ol

o

and

VI

I-b? | 1 - ! {f

515
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res - A, - B, i

ed '|” parts in" - e '
DR S St R I R

mpigt§ 1t, using the figu

......

NN = ,,
NN

A P /ﬁ

2

o

%

7

7

NN

%

N\




I

Write. .No 1f . E

gr'uenﬁ re gians

Figre ha ok béer, parti biohed ﬁs”mgmg A

- ) \




s'an:béﬁ used ‘ti‘a tallf abaut the Ehaded

thI’é'? Rémember we xi;l lét the f‘irg

ey

s

B

st DL - JOou- ﬁnd any’ figures that._ had, m::t been partitioned

< intg e.cngruent regian i Which ones were they

e 518



par'tit' bﬁed' ;
’_jcslled ﬁh daﬁomj.ﬂaté
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'This member 18

rs-0f-Set-Cx
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Fagh smell,
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res:cf=ﬂnit'regidns below Euggést some ways

one-half. .

the measure of the shaded regicn?

:ﬁé£;ffégtiénAﬁames the measure of the shaded region? -

,%i%WHétifra;tféﬁfnames~thewmeasufeu@fwthe*shadedaregién?ixgﬁaﬁzgma

EID,E what fraction names the measure of the shaded region? T

-E, - “#hat fraction names the measure.of the shaded region?

shaded reglon?

s
2 %

ape

e

~

R e o
In 'F, what fradtion names the measure: of ﬁﬁ%

of naming the

‘[ﬂ\ -

- ™ 152 5 ang_ %% are ali wg?s
LR, T ST B

SO
.rational number
s f‘f : [

€

v o

& -

]
o AN
I
‘M‘ oy
S
Sl

“We dan writé: i

g !
. What are some other fractions thal ... Lhls same number?
“'fle 8ay that % is the simplest name, .. simplest form, for
we &y ,

; this rational number. Can you tell why?
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nojox
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ol Rlo
ol

3
8

@i

7
8

o)

ooton. Dles 4

" are names for the same rational ﬁumber,

1 ather fractiana are names for the rational number % ? .

fractign 1s a name for the rational nuﬁﬁé;“ %ﬁa

:iyﬁglfiﬁﬁ‘ather fractions that name the same rational number,

on this. 1ine®’

, néiraﬁisnalinﬁmber'may!be named by many fractions.

s=pational number “x

may be named by: {%; 5 g T
S IE XA
e e 8 o

may be named by: [5; fﬁg'*fg; gﬁ; ces )

The rational number

2 The %atianal-numbér.

EWJ‘UWW Wi 4WP

" The rational number may be named by: —1§i, 50’ E_’ col
% :

;iCan’y@u think of other fractions which would name each.of these

numbers above?

"

;_Pﬁny fraeti@ﬁs can be used to nanfe Lhe sane whole numbers.
;'ﬁgr example, "1 may be indlcated by . |

%x 5 %§> %g %, and 80 on.
- Can you name three ofther fractluue Chat belong to this set? j

i

“may ‘benamed-by:- ”[%%”?gibwfgfxﬁgfg”?rffi*‘“”*¥
oy




&' of tnts figure;

another name for __ .

T

Color 52 of this figire.

g 18 another name for

—

Color % of thia figure.

.'01 (A%
"
]

another name for:

Sy

S ﬁﬁ ! Color % of thisfigﬁre}

S L
[y
w

another name for 7

S o -7 Coloi A of this f1 1;';2 ‘»

another name for __ .

[
o

= ¥




ﬁ
s

i
[}

. zaﬁ%ﬁte at least three other fractions whicﬁ name each of

the fallawing rational number;} If you can’ write more

_ than three, do so.

o a); ¢)

“ g

b)) d)

KR R

m
o oo
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| foot
-

B2 02 inches

Draw 5 boxes llke the ones-below. Separate each box

' to.show the mathematical sentence written below. The .

e for you. .
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hgﬁ;fen”thé’ﬁrecéﬂing page has ﬁéen‘%g'

ongruent square reglons.

h émé;l aguafé reglon is what part of the unit R

quare region? . o L

1 row or
"1 ‘eolumn of square reglons?

o 3

s R R —

_Each row or each column of square reglons 1is what

‘part of the unit square region?

°
100

L

“regions should you color if yaﬁ
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re you work ¥

fractional pleces shown?
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UNTS

0D |

o5 Hlo
|

- olo

e

v
=
.

b nofs |

A AV

'Mu odeo

-

5-the left of '%r ?  1Is

“theileftiof 4?7  Is -

3

ol Ho o Huo

N

Dd@wrﬂug'kﬂw

‘*iéf‘tafg‘? TET

-

1s easy to see that %,

o
H o
L")
W
o
i

R | - _ : . .
.- least to greatest. " .- '
A*i l ~5 5 ’ I e o .
Are =5 B T and 5 ordered from the least to greatest?

It would bé easier to decide 1f we used other fractions for

i
g
-l

.- these numbers.

. Using other names for these same nwnbers, we can write them as
o e
} B i o
and %T’ -

L e gl :
. -AB yoﬁ move ‘o the right along a number line, the rational numbers

%f'g‘ bééémé greater. As you move to the left, they becomg less.
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shge y

. ,.xiE_.?éf,;,geﬁir.iﬁ,e;,,;ﬁhié)G@rregt answér. , The -fraction

* usedy if:feeded. . ¢

P

a) Which number Ls less: ELBZ or J 2 S

i

Which is fartler to the left on the number linefy .

" Which number is less: 115? or % 2

T yilch 1s farther to the left on the number line?’
~¢) . Which number ls less:
.. 7_ ,g‘r‘!h'!l

2

- \Hieh 1s farther to the

::!‘d) " Wéh;q;’h number 1s less: %1: or % ?

1

Wl_;iéh 1s farther to the left on the number line?
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yau ‘need ti‘iél'n. '

2

‘number with points “d, b,
b + pambe ; A

in’ the diagram below.

-'_f List lﬁ'crdefgtha' counting by three-halves

g
"

-

trom A% to 9.  }£ﬂxi'." D - L gi~ ”f;“i; -

G).%

d) 5
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i y*W£i:iﬁg,tﬁefsymbaiﬁ > or < in }‘f
B L o

oy
T
)
]
(=
3
o]
H
s}
M o
"'11
o
By
2]
5
i
L]
A%}
woo
<t
.9
e
[
o
W‘
ot
i)
]
o

a

o s Lo
I ‘HVH""

L
5 i) [

%-ﬁkﬂﬁ}qwdm‘fﬂ‘
i

16. Arrange in .order tue nwabe.s lu cach set below. Begln

F . = e

with the gréatest. .

{E' %’ %} i ;/ , | T;;;

T
| —. 1 1 1 ! N l ¥ i : = ‘=1

W

Q
1]
| S

1,711, Arrange these numbers from least to greatest. . -
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e and twgé‘tﬁi%!ds;"

ERIC

Aruitoxt provided by Eic:



+-Each block is. .s

R -

How many ‘miles .does he-have to-walk to -school?

ERIC

Aruitoxt provided by Eic:



ERIC

Aruitoxt provided by Eic:






ERIC

Aruitoxt provided by Eic:



ERIC

Aruitoxt provided by Eic:



ERIC

Aruitoxt provided by Eic:



arate the unit

congruent segments. .
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= == R ! + 5 ,§.—~ =
How many did John have ‘at’the beginn
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:aétigéiﬁxéfﬁiEESfa - o«
SN S

. " ' 8 o f
e s

A : s z 3
to make eachi:af the follo¥ing

a 1s shown.. o

. k) s5x8n2>30 . v i

*a

o
N
=
—~

w—
L
X
L
AN
Lo
WO

Ih =TT > 1 L t) 49+ 74 6=13 s

S e Ty £ LT i N gy

2, -Mixed Addition and Subtraction i

327 + 54 . - k) 178 + 2388 ;
US7 + 218 1) 400 + 583 + 324 |
) 384 + 201 w) lod( - 537

384 - 156 W) 1oy - 368 ,
995 - 768 - , o) 3 ¢ 31 + 36 . -
870 - 418. - p) B0l - 513 : ;

" 2384 - 1963 4) (45 - 508
1066 - 883 v) 678 ¢ 25k
J o84 + 168 | s) 200 - 1256 2

700 -- 362 . L) 590 . 303 + 81

261 L -




; 737? x Eé -, " 4%.
1),n + 304 + .488 o 16460

"m) P .
"n) ?19 - no=285 " * |
o) 8’?8%+ n's' 12497 %ﬁ ,-
k3 P) T~ :%6 % \ oo iz
. g) 48+n+7% {'q) 8789—=n5§58:{ fuy

4§ _h) n=127 x5 . r) 589 +.403 + 950 = n .
o w3 %) nxo9=38T #%: T
114 . . t) ne 658<758 ¢ % |

o w

k]

\|\ ﬂ‘

n

Loty g). 624+

[~
L
Nf‘ ':
v =
o

I

]

, . & QY e
& Lii Aﬂditign, Subtrar::t.iuné Multiplicatien, and.bivislollTy
N ! ‘s " ) & ik %
i

Mk siinta o 'a)«-;414 = 671 i) 28 4 32 + ¥9e
b) 2157 + 879 1)
. e) 148@!- 4 & w)

v

4

w Q) 676 w) 679 - 327.
e) 459 @9 ( ) :1..35 T
£). 309 + 48?@;5'@ p) 810+ gsz + 934 -
g) 475 = 367. . q) _3.:5,:5%( 7 s &
r) 652 - 584 S & ik

h) 280% 7’ ,

4) 396 x 7 4 °) 444:*6 L @& . B .

). 1209 - 688 . | L) 876 x yot .
o ) e

P %
& .




er: n- - pépresents:

N

t "

m‘tﬂ wil = Cod wno e M‘m

)
J¥
. - L k)

n : 1)

- 465 +
= 100 +

o i

uF {'. . 5

=4 if

60 + 2

[}

i

o )
W ’ -
e

0

of

by regrouping.

400 + 50 + 12
100 + 50 + 7

*

56,+ 7

Lttt s e s fé) . _638 ‘_ e -

-394

£) 6os
628

o .

563

36D 400 + &

L]
E
£
o
It

1]
pu?

]
o

li
o]

1]
pa.

o

%

.




17)"'
J)

,m)

n)

o)

p)
q)
r)
s)

t)

ol

378{_“3 o i

257 x b
2488 = 8

319 x 8
580 + 5
509 X 7

789 +/3

156 x 9
217 =+ 7
697 x 4

3. Write the numeral for sach Llank that makes a true -1
o v ! , _ : -

~_sentence. Example a

-
b)
)
a)
e)

o

g)
h)

-
vj)‘:

((4 +2) =y -
(7 x ) -
@x8) - -

(__x8) - 3y
(4 x __)+06-=_
(é x 6) = - 14
! 47) x =
1-5)x9=__
(8 +20) - ___

1s shown.

k) (
1)
}

m)
L!)
“)

p)

a)
r)
8)
t)

A W)+ B = B

(0 __)=15=21
(f' X 8) + lé = __ .

(5 X__é) -'1f = 21

(_ x9)~-6=
= 55

(7 x 6) + _
(__x6)-2=

(7 x9) + __

]

48

29

72

e
s
o
e

4
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‘Iv

L]

o Uk v Hw 3= wioy

jury
o]

Ll

.

i He oo Uik wjs

e

L™

-

I
[

¥

e

[~

HMw i~ ofe "’:Jllm LV [ |

.
-

L d

[

@

&

f)

g)

ny

1)

1)

12 inches ___

or { make each of the following

-E *yard

é- quart ____ 2 piﬂts

15 minutes __ .-

b feeﬁ 19- yards

9 inches _____ '?yard

Ze from smallest to largest.




08t number of line segments that can have ,{

H
il
fak
i H

c, D, E}

F[The naméd pclnts

"waif éndpéints ln Set M ?
R A S

,Néme the segment(s).

R = [The named palnts G, -F H, I}
What. is .the greatest number of line sengnﬁs that can have ;’
endpoints in Set R ? N

Name the segment (s).

i eenBe-DEAW..LWO . 1ine _segmentas Lo wmahe Llles

quadrilaterals and [lve new Lulangles
out of & X¥z.

?. Draw two line geghchile L. el L owrnd

-8

" new triangles and thie. Quadcl.aterals

out- of A AE;J

8? 4 (45 8 me&ns‘ L 16 4eoe thu. 5 and

! Write these Ssenten.es Lie shorter way.
a) 32 < 34 ana 34 ( 40 - |
b) F<F ema 74

¢) 112 115 and 1

%
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: Firxd the numbér' hat n represents in the following:

d) $<n<g .
L : 50 -
&) 9<n< %

o

r) m<nl 1%

regions and. - 2

fegians fcr faaes.

 reg1DnE'er faces.

1

;‘rggian»and two circular:

1

B ) wrg

{1: Examplea g% and ﬁ are done I'or guu,:@I‘;

,5,}

'-agjﬁﬁﬁguaé 9;‘ih.;f

2 times as .long@e 6

L oas long as: . ie 4.,

- *

§ long as L4y ain,
A “"."tix{es as long as ..
—— i 7 i B
56T




14,

1) - miles

)

oo Wplte -4 . different fracblen unamss for .each.of. the.points .

II
Length -of your pencil

Cglumﬁ

Bottle of milk B
Distance béﬁWEEﬂfEltiEE
Length of a football fleld
Timing a running race

Time at recess

Time until a birthday

minutes B Time for sleeping
___ Height of a tree
inthes ~__ Sugar for a recipe

labeled on this munker llus

Find the perimete:. of wi. & diowiag:

a)

b)

et o e —— e )
0 A B - D 1

‘A polygon with slucg whoss jsaburss are 16, 28, and

32 1in inches. o
An equllateral t.laugle wiil the mecasure of one of

1ts sided# 14 1n ree@ >

A pélygan with 6 gDﬁgPuéﬂt'ElﬂEE, thé measure of

one side 18 35 .. Lenbiméﬁefﬂ
A Equare, one side uf whigh has tne measure of T in meters

A polygon wltn 2 sides whose measures have the sum

of 8 yafds and 3 aldes whose measures have the sum

_af l5 in yards




&

: ﬁéyisﬁf&ﬁii?fusésg 8 eggs for breakfast. What part of

&7d6zen SgEs 18 161t?

e earns 75 cents on Monday, 50 cents on Wednedday,

: M e ; .- -
nd  75:. cents on Friday mowing lawns. How much will he

¥ L

*

. The school bus runs 7 miles on a gallon of gasoline.
' Each week the bus goes an average of 882 miles. How

~ much gasoline will the bus use in four weeks?

her horse. She bought 5 bLales of hay at §$1.75 a bale
'5?'; and 100 1b?’éf oats at $5.40. tow much will this month s

" feed bill be?

5. fTom hit a softball 135 (i Haudy hit the ball 25 ft.

' _farther than Tom. How i1ar Jlu Randy hit.the ball? -

Kfig It 18 347 alr miles [irum dan Francisce to Los Angeles, »

1240 air miles on.te Dallas, 443 alr miles from Dallas

- to New Orleans, then 669 aip miles on to Miami. How : -
" many air miles 1s 1t Ly Lnls wuute, frog San Francisco to _—s

Miami?




. it ._f'f. oy - . .
‘nurse’ faund Janice to be 4 ft 4 in, tallg Linda . -

3

11, an@ Maria 4 ft 9 in. tall., How much

,ce'is Linda?

n fhé 8 andiﬁg braadajump Pa% S best jump*waa 5" ft 3in,

.2 in. Ray's jump was haw

Wh%lg;BQY{SWb§§ﬁ=Jﬁﬁp’was 6 ¢

n

mich béttér'than Pat's? .

1‘.;,,\..\.,..»:-_.5,,__,A, N . . 3 . Loed

’“f:‘9;?~Far ‘his-birthday Tom re}eived a new baseball bat .that is

‘24 inches long. The patls 1ength is what part of a yard?

L

10. Joe delivers 56 papers each day. How many'papégs dgés

he deliver in 28 days?

11.  Susan buys 2 dozen cookles ror J30 cents a dozen and“a

; 31' ‘cake for 80 cents. How much does she pay thé"EIéFRf

S SIS, VST S S JAE JUN ERE S ST U RS

Braintwisters S 3

1. You have a 30 inch ... that y.u have to cut in, 5
pieges, each 6 1ncheo lu.g. Lt takes flve minutes to

make each cut. How man, mlnutes will 1t take you to eut

the 5 _pleces?

An irchworm was climbi.g 4 cvee 5 feet high. He plimbed

three inches every day awd slipped back two 1nghes ev;?y
‘ﬁéght. How many days will 1t take him to reach the tap? -

~

A — f Lo . e s ‘.______57,_
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& i University in the summer of 1952_,
;‘QDIII experience With the firet two editions

C 1962.
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"’Michigan A LA
Guy‘. Jr._, University -of 'I‘E;xas

Vetal Scht:gl s Detr, it;

S

Cflg.rencé Ethel Hértigfave_, Narthern Illinois Uniférsity p
Eﬂ}ree S. Ha.ryt_we, Carpuﬂ Christi Ptiblic Schaézs Texas =~ k& '
Etata C'G]_lege of Towa .

Tacob

niversity af__b-iassaghusétts k‘ s

Willis.m G« Lister_, Etate Uni\i‘érsity of New York:
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Leon Eutlanﬂ, Univerafty ot Colouradou : e

Helen- Sehnéicler, IEGI‘E,nge Fublic Schewswo, Lllingis
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Rose Mary Shea, Edith C. Baker Ychool, Broukline, Massachusetts
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